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Section D: Answer the following questjon in your answer. sheet.
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- 8. a) Simplify each of the following expressmns usmg suxtable 1dentmes ;
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b) Find the value ofk,ifx+1 is a factor of p(x) in ea\ch of the fo]lowmg
cases:
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_ Sectlon A : Multiple Cbmce Questions - Each questlon has 4—opt10ns
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2 Whlch of the followmg statements is true?
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A) A mumber whose decimal expanswn is termmatmg or non—terrmnanng

recurrmg is'ifrational. .
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B) The sum or dlfference between a ratlonal and an m'ahonal number is

" irrational.
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C) The product of anon-zero ral:lona.l number with an 1rrauona] number
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; D) The product- of two irrational numbers is always'_ irrational?
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3. A ball is thrown upward and its hexght (in meters) after t mmutcs is ‘ : F .  Section B Answer the fouo“;h‘;E qucsﬁom in ydur answer shcets.
‘given by the polynomial h(t) = 2%+ 5t —3. What'is the hcrght of the ball ¢ ot S+ PES-B: :b&i‘)ga)ﬁ§ AT HFod' & Sod @ﬁc?& JSrFITwt :
after 1-1— minutes? . ; L a.‘égod s : 2x2=4
tADTO Sogs 28 208 w08 & (.boéo&x')") h(t) = Py +5t—3 93 L i " - 5. Look at the following square
2058 Tgor SrDOSRAIE. wows 13 dqdo ao;ga 208 J8y .| L 6 (o SREER) dSdoSod
Jo82 . T PR i b e LT aetetgten

" A) 6 meters. s B) 75meters C)9 metcrs D) 10.5 meters ~ .

6 Doty 75 boody 9 oy 1055»5'&:”' o
= . i
4. A bakery has designed a new cakebox with a 3x 227 cubic mcheq w5 '
~ volume. Which of the following is the least possrble dimensions of the ; T T square is changed to a rectangle as shown below

cakebox? . ) : Ltk we " 3 61 x‘,Séod@o LGOCS z‘.i:'.).'é égd&d@oﬁ‘ &'(‘5‘)236:6&

2.8 D6 3x’—27 259 wotbee méaﬁéﬂno fo o8 8 $5gD esosa-&
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A) 3 inches, 7-inches, 7 mchcs

3 woiheen, 7 ®oiieren, 7 volderen

< (100+5) metars —»

——aA 8

B) 3 inches, 1 inch, 1 inch o o [P . : . . )
3 worberen, 1 woihyo, 1 @o:‘bo’o » e > ' ) ' . Find the area of the rectangle using algebraic identities.Show your steps.
) ; bareds S Lossmino dhaArRoD A5 S66E0 B0, aa-og:mm

O3 mches 7 inches, 1 inch , e
3 sooren, 7 woigen, 1 wor¥o : : ‘ ; F g™ e % gmﬁ"&&) FarTo wrdod. . 3

D)'-3-incbcs,'3“mches,3inc}ies y . s P s s . : 6, facgqrrze;hcfoll<?w1r1gexpressrqn
3 soforen, 3 woleen, 3 Wobwey - . - e IR 27x7+ 8y "+ 64 - T2xyz.
: . L » show your steps. .
e e SR ¥ ) % +8y +64 - T2xyz Soaroswm DefEosod, AT
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Scétién'C" Answer the following question in your answer. sheet.
. NES C: 303633)626 aa‘m ‘.’)Ldoe)‘ & @ob LR ﬁ‘.’u‘Q‘iﬁo ‘ :
ATy : L A '&6506 g 1x4=4
: 7. Locate /5 on the aumber line. Show your steps. .
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Self-Assessment Modal paper-1(2024-25)
IX CLASS-MATHEMATICS —SOLUTIONS
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1) 72x632 [A]

(A) 21 B) 42 C) 63 D) 91

Sol:7Z X 637 = (7 x 63)% — 4417 = VAT = 21
2)  Which of the following statements is true? [B]
A) A number whose decimal expansion is terminating or non-terminating recurring is irrational
B) The sum or difference between a rational and an irrational number is irrational.
C) The product of a non-zero rational number with an irrational number is rational.
D) The product of two irrational numbers is always irrational:

3) Aballis thrown upward, and its height (in meters) after t minutes is given by the polynomial

h(t) = 2t + 5t - 3, What is the height of the ball after1 % minutes? [C]
A) 6 meters.  B) 7.5 meters C) 9 meters D) 10.5 meters
Sl-h(3>—2x(3)2+5x<3> 3_18+15 3_18+30—12_36_9
siz) T2 2] TP TN T 4 g om

4)  Abakery has designed a new cakebox with a 3x? — 27 cubic inches volume. Which of the
following is the least possible dimensions of the cakebox? [C]
A) 3 inches, 7 inches, 7 inches B) 3 inches, 1 inch, 1 inch

C) 3 inches, 7 inches, 1 inch D) 3 inches, 3 inches, 3 inches
Sol:3x2—27=3(x%?-9) =3(x+3)(x—3)
The minimum value of x is 4 (because x — 3 > 0)
The least possible dimensions of the cakebox are 3,4 + 3,4 — 3
=>3inches, 7 inches, 1 inch

5) Look at the following square

P 100 meters

b
N P

sureshmathsmaterial.com-9866845885




This square is changed to a rectangle as shown below

(1100-5) meters
= N

S.239uL (S+00T)

Find the area of the rectangle using algebraic identities. Show your steps.
Sol: Area of the rectangle =1 X b

= (100 + 5)(100 — 5)

= 1002 — 52 (a+b)(a—b) = a? — b?

= 10000 — 25
= 9975 sq meters
6) Factorise: 27x3 + 8y3 + 64z3- 72xyz
Sol:a® + b3+ c®*-3abc=(a + b + ¢) (a? + b? +c? —ab —bc —ac)
27x3 + 8y® + 6423 —-72xyz
= (3x)° + (2y)° + (42)® — 3(3x)(2y)(42)
= (3x + 2y + 42)[GNCHN2y)? + (42)* — (3x) (2y) — (2y)(42) — (42)(3x)]
= (Bx + 2y +42)(9x? + 4y? + 1622 — 6xy — 8yz — 12x2)
7)  Locate V5 on the number line .Show your steps

Sol: 1.Draw number line. Point O at 0 and Point A at 2.
2. Construct AB= 1 unit perpendicular to number line at A

3.Join OB

4. From Pythagoras theorem OB=v22 + 12 =4 + 1 = /5

4. Draw an arc with centre O and radius OB, intersects number line at P.

5. The point P corresponds to V5 on the number line..
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8) a) Simplify each of the following expressions using suitable identities.
@ (2+v3)(2++2)
sol: (x+a)(x+b)=x%>+(a+b)x+ab
(2++v3)(2+V2)
=22+ (V3+V2)x2+V3x+2
=4+2V3+2V2+6
() (VE—-v7)'
Sol: (x—y)? =x2 - 2xy + y?
(V5-v7)' = (V8B)’ —2x VB x V7 + (V7)°

=5-2V35+7
=12 — 2v35

(iii) (V3 + \/§)2
Sol: (x +y)? = x% + 2xy + y>
(V3+VE)’

= (V3 +2xV3x V5 +(V5)
=3+2V15+5
=8+2V15
(i) (VZ+v3)(VZ-3)
Sol: (x+y)(x —y) =x2—y?
(V2 +v3)(V2 -+3)
- (V2" - (3’
=2-3
=-1
b) Find the value of k, if x +1 is a factor of p(x) in each of the following cases

sureshmathsmaterial.com-9866845885 Page 3




() px) = kx®- V/3x + 1

Sol:If x + 1isa factor of p(x)then p(—1) = 0
kx(-1)%- V3 x(-1)+1=0
k+vV3+1=0

k=-—/3-1

(iDp(x) = kx?-2x + k

Sol:If x + 1isa factor of p(x)then p(—1) = 0
k(-1)?-2(-1) + k=0

k+2+k=0

2k+2=0

2k = —2

k=Z2= 1
2
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